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7 100kN/mM#Z#B X % — - ~ — —|3m%#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — —|3mZEHBZD -~ — — —
Zh s 100|000 ~ 469 58.41 | #hust | 000 ~ 000|163 871 Zh s 1001500 ~ 5.00 58.41 | Fhst | 500 ~ 5.00 | 1.63 8.71
2 100kN/mM#Z#B X % — - ~ — —|3m%&#EZD - ~ — — — | 100kN/MZE#BZ 5 — - ~ — — |3mZEHBZD -~ — — —
Zh s 100|000 ~ 755 96.63 | Fns | 000 ~ 755|177 9.48 Zh s 1001500 ~ 995 96.63 | Thiust | 500 ~ 995|177 9.48
3 100kN/m%Z#BZ25| 100|000 ~ 104 11564 |3mEBZZ| — ~ — — — | 100kN/mi%E#BZ% | 1.00 | 11.11 ~ 1433| 115.64 |3mEREZD -~ — — —
Zh s 100|104 ~ 8832| 100.00| Ths | 000 ~ 883|237 12.67 Zh s 100|500 ~ 1111| 100.00| Thst | 500 ~ 1433|237 12.67
4 100kN/ % B2 5| 1.00 | 000 ~ 121 118.36 |3mZE#EZSH| — ~ — — — | 100kN/m%E#BZB | 1.00 | 1058 ~ 1458 118.36 |3mZEBZ3 -~ — — —
Zh s 100|121 ~ 900 100.00| This | 000 ~ 9.00| 214 11.43 Zh s 1.00 | 500 ~ 1058 100.00| Fhs |500 ~ 1458|214 11.43
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Zzh st 1.00 | 004 ~ 783 100.00 | =5t | 000 ~ 783)2.05 10.95 Zzh st 1.00 | 5.00 ~ 1102 100.00 | =nS | 5.00 ~ 1115|205 10.95
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Zh s 100000 ~ 477 59.47 | #Fhust | 000 ~ 000|170 912 Zh s 1001500 ~ 5.00 59.47 | Fhs | 500 ~ 500 | 1.70 912
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